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AOAG 10 40 39 8 100.0
DFais fems i (B B k%) 3 100.0
DR MRS BB (TP A A — ) 7 100.0
PR RS R (LR 10 19 19 19 19 100.0
R RS R (E ) 27 27 27 27| 100.0
— e AR 49 48 25 14 56.0
P B AR 2 2 2 2| 100.0
ISR 2 A R 173 172 84 31 36.9
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e [ATIIARERB T 85 84 31 10 32.3
*ﬁ AT BRAM A 90 141 137 50 19 38.0
2 |FirEREBRBM A 102 99 34 13 38.2
B v r—752a k3t 156 154 52 6 11.5
L H—FFABH 55 55 0
IR 5 96 79 5 4 80.0
KNG 4 — AR AR (RT90) 38R 84 84 23 1 4.3
KNG 2 — AR 3R (RT90) 580RH R 15 37 37 12 0
KNG 2 — B AR (1 090) 38R 14 14 4 1 25.0
WESMRE T B R 0
SRE N7 R B b ¥4 5 5 3 3| 100.0
s NSRSt 0
; /N 160 | 1,520 | 1,486 567 227 40.0
a AOAG 7 17 16 8 8| 100.0
DFais fems i (B B k%) 3 3 3 3| 100.0
DA MRS BB (TP A A — ) 4 4 4| 100.0
R RS R (R o1 15 15 15 15| 100.0
R RS R (HE ) 10 10 10 10| 100.0
— R AR 14 13 9 7 77.8
e B AR 1 1 1 1| 100.0
ISR 2 A 72 71 39 11 28.2
B |aigama sk 150 147 59 15| 254
2 [wimmatms s 42 42 15 4| 267
; AR AM /5 2 37 59 59 21 3 14.3
2 |rEtEBM AR 59 57 22 5 22.7
; BB —TFTAAFH, 52 52 18 3 16.7
& |t F—7FABLK 18 18 0

IR 3 28 23 3 1 33.3

KNG — AR AR (RT90) 38R 41 41 14 1 7.1

KNG 2 — AR 3R (RT90) 580RH R 12 21 21 7 1 14.3

KNG — B AR (1% 090) 38R 8 8 2 0

WESMF ) T- 2 5 B R

SRE NG R B b ¥4 3 3 1 0

s NSRSt

/N 80 617 604 256 92 35.9




2t | A BRIy s \B | BRE | 2REt | Ak | A | Agsx
AOAZ 7 28 28 17 15 88.2
BRI IS ABR (R TR 3 3 3 3] 100.0
DERR RIS AR (R — ) 6 6 6 6| 100.0
HETE R HE IS AR (LR o1 8 8 8 8| 100.0
HETE R HE IS AR (Rm R 14 14 14 14| 100.0
— IR 19 19 12 8 66.7
R BHE IS IR 0
I A AR 23 23 16 1 6.3
. [imama 82 80 42 17 40.5
S [t 34 33 13 4 30.8
f& ATEIABRAM T 37 38 37 19 6 31.6
T |nistseM R 42 41 18 7 38.9
;j AT TAASTR 292 292 11 1 9.1
L H—TFABH 19 18 4 0
% WA 3 27 19 3 2 66.7
KNG 4 — SRR TR (RTH) SRR 29 29 12 1 8.3
KNGz 4 — SRR TR (RTI0) 5H0RHR 12 17 17 7 0
KNG 4 — SRR T3 (7% 1) S 2R 6 6 3 1 33.3
WEIME E T L B A BR 0
SRE R R R R ¥4 1 1 1 1] 100.0
2 AR RIEIKABR 0
; I 3 80 418 404 209 95 45.5
a AOAZR 7 15 15 15 15| 100.0
BRI IS ABR (R TR 2 2 2 2| 100.0
DERR RIS AR (R — ) 5 5 5 5] 100.0
HETE R HE IS AR (LR ” 6 6 6 6| 100.0
HETE R HE IS AR (Rm R 12 12 12 12| 100.0
— IR 8 8 8 1 12.5
R BHE IS IR 1 1 1 1] 100.0
| A AR 32 32 22 3 13.6
" AT EABRA 17 2 57 57 34 11 32.4
o |BrmERmEB 11 10 5 1 20.0
Z lgimatsAM = 25 33 33 18 5] 218
T |smRmBM 20 20 10 0
;j BT TAASTR 20 20 8 0
L H—TFABH 7 7 2 0
% WA 3 10 9 3 0
KNG 4 — SRR TR (RTH) SRR 11 11 6 0
KNGz 4 — SRR 3B (RTH0) 520RR 11 8 8 5 1 20.0
KNG 4 — SRR T3 (7% 1) S 2R 7 7 4 0
WEIME E T L R AR 0
SRE B R R R ¥4 0
2 AR RIEIKABR 0
I 3 60 265 263 166 63 38.0
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AOA#R 8 27 27 19 19| 100.0
BEER R HERS 38R (R F i) 3 3 3 3| 100.0
BFRR I HEBS A BR (P R — %) 7 7 7 71 100.0
SR ERHERS AR (R R o1 14 14 14 14| 100.0
SR ERHERS B (5B R} 17 17 17 17 100.0
— A S AR 23 23 19 6 31.6
e S AR 1 1 1 1| 100.0
I A SR 85 85 47 18 38.3
BTHIRAERA J7 2 158 157 74 22 29.7

L ETIPES 51 51 23 5 21.7
s |RHRBAM 60 43 43 13 1 7.7
;j; AT HIRABABM 5 53 52 24 9 37.5
LA —TFAASE 63 63 24 3 12.5
LA —TFABHR, 19 19 7 1 14.3
% BB 3 41 33 3 2 66.7
K AB L4 — SR SR (RT0) 350k 31 31 14 1 7.1
K AB L4 — SR SR (RT0) 550k 15 16 16 8 0
K AB L4 — SR R (7 1) 38Rk 9 9 3 0
WS T2 B R R 0
SR A S R FF4 2 2 2 1 50.0
2 NI RABR 0

; N i 110 663 653 322 130 40.4

a AOA# 7 9 9 7 7| 100.0
BEER R HERS 38R (R F i) 1 1 1 1| 100.0
BFRR I HEBS A BR (P R — %) 1 1 1 1| 100.0
SR ERHERS R (R R o 5 5 5 4 80.0
SR E R HERS B (5B R} 10 10 10 10| 100.0
— A S AR 20 20 17 9 52.9
e S AR 0
I A SR 74 74 48 18 37.5
BTHIRAERA J 2 250 245 136 39 28.7

e |irRtERB TR 47 45 23 8 34.8
ﬂ‘; ATHIBRAM A2, 45 60 60 30 7 23.3
2 [ BM AL 49 48 22 8 36.4
B e r—ro2a st 84 83 39 7 17.9
LA —TFABHR, 32 31 13 0
% BB 3 53 47 3 3| 100.0
K AB L4 — SR R (RT0) 350k 52 52 28 2 7.1
K AF L4 — SR R (RT0) 550k 14 45 45 26 3 11.5
K ABEL 4 — SR R (7 1) 38Rk 9 9 7 0
WS T B R R 0
SR A S R FF4 2 2 2 1 50.0
2 NI RABR 0
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2t | A RERX Sy s \B | BRE | 2REt | Ak | A | Agsx
AOAG 8 14 14 4 41 100.0
BEER R HERS 38R (R F i) 5 5 5 5 100.0
DERR RIS AR (R — ) 7 7 7 6 85.7
SR ERHERS AR (R R o1 14 14 14 14| 100.0
SR ERHERS B (5B R} 15 15 15 15| 100.0
— IR 26 26 17 7 41.2
R BHE IS IR 1 1 1 1| 100.0
I A SR 109 109 59 24 40.7
BTEIBABRA 73t 284 282 118 34 28.8
f |ARAERB 88 87 33 9 27.3
*IFi ATHIBRAM A2, 70 73 70 23 5 21.7
2 [AiRRBM 73t 98 94 29 5 17.2
B ferm—ro2an3t 124 124 42 8 19.0
YA —TFABS 44 44 9 0
% BB 3 66 53 3 3| 100.0
KNG 4 — SRR TR (RTH) SRR 65 65 23 1 4.3
KNGz 4 — SRR TR (RTI0) 5H0RHR 15 54 54 22 1 4.5
KNG 4 — SRR T3 (7% 1) S 2R 8 8 3 2 66.7
S T 4 B R R 1 1 1 1| 100.0
SR A S R FF4 2 2 0
2 NI RABR 0
; N i 120 1,098 [ 1,075 428 145 33.9
a AOAG 54 150 148 78 76 97.4
BEER R HERS 38R (R F i) 20 20 20 20| 100.0
DERR RIS AR (R — ) 37 37 37 36 97.3
SR ERHERS R (R R 65 81 81 81 80 98.8
SR E R HERS B (5B R} 105 105 105 105 100.0
— IR 159 157 107 52 48.6
R BHE IS IR 6 6 6 6| 100.0
I A SR 568 566 315 106 33.7
BTEIBABRA 73t 1,406 | 1,389 633 197 31.1
4 |nirmstEB A 358 352 143 41 28.7
e [IABRAM S 364 447 439 174 46 26.4
BT IABRBM J7 28 423 411 159 47 29.6
B e r—ro2an3t 521 518 194 28 14.4
YA —FFABS 194 192 48 1 2.1
% BB 23 321 263 23 15 65.2
KNG 4 — SRR TR (RTH) SRR 313 313 120 7 5.8
KNGz 4 — SRR 3B (RTH0) 520RR 94 198 198 87 6 6.9
KNG 4 — SRR T3 (7% 1) S 2R 61 61 26 4 15.4
S T 4 B R R 1 1 1 1| 100.0
SR A S R FF4 15 15 9 6 66.7
2 NI RABR 0
N i 700 | 5,384 | 5,272 2,366 880 37.2
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AO NG 10 17 17 2 26| 100.0
DR EHERS I (75 F B A ) 10 10 10 10| 100.0
DR HERS R (0 B ) 9 9 9 9| 100.0
o T B HE P 2 (R ”s 11 11 11 11| 100.0
o T BeHE B 2R (T 2% 25 25 25| 100.0
RS R 29 29 16 1| 25.0
R 5 5 5 5] 100.0
P 17 17 30 9] 30.0
A ABRA 2k 125 | 122 35 1| 114
) [T 33 32 10 5] 30.0
s [mmRmAM R 60 32 27 11 6| 545
it [imsmen st 39 38 10 2| 20.0
f [eor—roxank m 13 14 0
oo h— AR 14 14 1 0
R 3 34 28 14 6| 42.9
F R 7 — SRR (RIH1) S2FHE 29 29 12 0
F R 7 — SRR (RIH1) 2R 12 5 2 0
F R 7 — SRR (e 301) S2FH 5 5 0
A T L B A 0
S B R R P4, 1 1 1 1| 1000
gj: s AR AR 0
o o o 110|544 527| 245| 121| 494
# AO NG 10 70 68 37 37 100.0
& PF e B AR (B ) B ) 9 9 9 9| 100.0
DR HERS R (0 B ) 9 9 9 9| 100.0
o T BeHE P 2 (R RY) ”s 6 6 6 6| 100.0
o T BeHE B R (T 31 31 31 31| 100.0
RS R 50 50 23 11| 478
R 6 6 6 6| 100.0
P 13 13 28 51 17.9
A ABRA 136 | 135 29 5] 103
o |FBRBE 34 33 11 6| 545
Y [mmmRman s 60 29 27 10 5] 30.0
7 [FMRBDM R 36 35 11 1| 364
oo H T AA 10 10 13 0
oo h— TR 16 16 5 0
R 3 2% 22 3 2| 66.7
F R 7 — SRR (RIH1) S2FHE 24 24 7 0
R 7 — SRR (RIH1) 2R 12 9 2 1 0
F R 7 — SRR (F301) S2FH 5 5 1 0
A T L B A 0
S B A R R P4, 5 1 2 2| 100.0
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o 110|577 565| 242| 134] 554
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AOAG 10 24 24 21 21| 100.0
DFRFEHERS PR (8 H k%) 3 3 3 3| 100.0
(R HE B R (TP — ) 4 4 4 4| 100.0
e ) 00 6 6 6 6| 100.0
FR RS AR (36 11 11 11 11| 100.0
— B PR 12 12 8 3| 375
e PR 3 3 3 3| 100.0
RIS R 17 17 10 6| 60.0
A BRA J 64 64 33 13 39.4

ERiARIRB )y 3 14 13 8 0
5 [WmRBAM 35 12 10 5 2| 40.0
; RIHIABRBM )73t 21 20 11 5| 455
B |[err—7I2an 23 23 5 0
T H—TTABI 7 7 6 0
AR 3 15 12 9 6| 66.7
KN4 — IR R (RIS 3R 14 14 7 1 14.3
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e R 14 14 14 14| 100.0
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7 [mRmBM 96 93 32 11| 344
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T H—TTABI 37 37 15 0
AR 9 75 62 26 14| 538
KN4 — R R (RIS 3R 67 67 26 1 3.8
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HEA VIR FELF L BRI PR 0
SV EL R 2R R IR R EF4 7 6 3 3| 100.0
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DERR RIS AR (R — ) 2 2 2 2| 100.0
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S TE RIS AR (i ) 5 5 5 5] 100.0
— IR 7 7 7 3 42.9
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I A AR 11 10 9 2 22.2
BTEIBABRA 73t 58 58 47 13 27.7
ATEIABRB 7 24 24 17 4 23.5
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;{f BT IABRBM J7 28 15 14 9 3 33.3
B |[err—752a3t 16 16 6 0
YA —TFABS 7 7 4 0
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KNG 4 — SRR TR (RTH) SRR 13 13 6 0
KNGz 4 — SRR TR (RTI0) 5H0RHR 11 8 8 5 1 20.0
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qu BT IABRBM J7 28 22 21 15 4 26.7
B |[er—752an3t 10 10 3 0
YA —FFABS 5 5 2 0
% WA 3 6 4 4 1 25.0
KNG 4 — SRR TR (RTH) SRR 17 17 9 1 11.1
KNGz 4 — SRR 3B (RTH0) 520RR 11 9 9 4 1 25.0
KNG 4 — SRR T3 (7% 1) S 2R 4 4 3 0
S T 4 B R R 0
SRE B R R R HF4 0
s IR AR 0
I 3 50 211 206 151 59 39.1




s | R BRI 4y st NB | EREE | 2Rk | Akt | A | A
AOA#R 4 4 4 4 41 100.0
BEER R HERS 38R (R F i) 1 1 1 1| 100.0
BFRR I HEBS A BR (P R — %) 3 3 3 3| 100.0
SR ERHERS AR (R R 0 0
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e S AR 6 6 6 5 83.3
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BTHIRAERA J 2 108 107 86 25 29.1
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' [dmatmeMr 44 40 27 7 25.9
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% BB 8 23 16 17 5 29.4
K AB L4 — SR R (RT0) 350k 36 36 17 1 5.9
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K ABEL 4 — SR R (7 1) 38Rk 12 12 6 0
WS T B R R 0
SR A S R HF4 3 2 2 1 50.0
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s |RTRERB 40 40 31 9 29.0
i BTEARRBRAM 7k 40 16 16 12 3 25.0
v |RiERBBM SR 26 26 20 4 20.0
1t leer—r72aK3t 29 28 14 1 7.1
# oo r—7oxBAR 19 19 5 0

3N 3 11 8 10 6 60.0

KA 2 — BRI R (i) 3%0RH 29 29 11 0

KA 2 — BRI R (RIT) 520RH 12 6 6 4 0

KA 2 — BRI R (1) 3%0RHH 4 4 1 1| 100.0

VRSN E T 2 B R AR 0

VPN Lo ST B4 2 2 2 1 50.0
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jﬁ AOA 8 20 20 18 18| 100.0
(s RIS 3Bk (% B %) 4 4 4 41 100.0
DR HERS R (PR — A% 5 5 5 5| 100.0
$e BT AR (R 17 4 4 4 41 100.0
Fe R HEIS R (@A) 8 8 8 8| 100.0
— I R BR 11 11 10 4 40.0
R HE S R BR 1 1 1 1| 100.0
RIS 3R 24 24 21 4 19.0
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; BT BABAB 7 2 23 21 15 6 40.0
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fé BT BABM Ak 16 15 12 2 16.7
2 e s —TTAASR 7 7 4 0
B er z—o52B53¢ 11 11 5 0
3N 3 10 8 11 2 18.2
KA 2 — BRI R (i) 3%0RHH 7 7 5 1 20.0
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VPN Lo ST B4 1 1 1 1| 100.0
A IR R BR 0
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A HER AR 14 14 9 3| 33.3
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A HER AR 34 34 16 51 31.3
REHEHE RS R 1 1 1 1| 100.0
I 3 35 35 27 s 29.6
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;j; AT EBRBM 2t 42 42 15 3| 20.0
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R AR — SRBR FH 3RBR (BT 3R 39 39 10 0
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WESM I [E - R B e ke 0
S AR 2 R A P4 1 1 1 1| 100.0
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AOAR 8 36 35 12 12| 100.0
PR REHEIS Bk (7 40 0
D B A A (T R — D) 5 5 5 5| 100.0
FR T RHERS AR (SR - 1 1 1 1| 100.0
FRERHEIS AR (1Y) 12 12 12 12| 100.0
— R A 29 29 22 14| 63.6
R A 2 2 2 2| 100.0
I AR 26 25 18 8| 444
AR BRA 2 107 106 83 18| 217

% AR B 73t 44 44 36 11| 306
o [THTEREBRAM R 50 23 22 12 51 417
i;% ATHIEBRBM A 2, 25 25 15 2| 133
B [er—roransk 42 41 24 0
AT AR 18 18 7 1| 143
R 3 15 12 10 9 90.0
KA 5 — BRI R ABR (RIT1) 320 37 37 17 0
KA 5 — B R BR (R 520RHR 12 21 21 11 0
KA 5 — BRI AR (7 1) 320 2 2 0
HESMRIE T 2 R R R P A 0
SN R R R =T 4 0

. Fhes N R BR 0
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PR REHEIS Bk (7 40 7 7 7 7| 100.0
D B A A (T R — D) 25 25 25 25| 100.0
FR T RHERS AR (SR . 7 7 7 7| 100.0
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R A 8 8 8 8| 100.0
I AR 128 125 98 28| 286
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B e s—r52an3 138 136 60 1 1.7
AT AR 85 84 26 1 3.8
R 15 64 53 52 29| 558
KA 5 — BRI AR (RiT1) 320 120 120 46 1 2.2
KA 5 — SRR AR (RIT)) 5 2R 60 49 49 28 1 3.6
KA 5 — SRR AR (7 1) 3 2R 19 19 6 2 333
HESMRIE T 2 R R P A 0
SHEL B R R R =T 4 7 6 6 1| 6.7
Fhes N R BR 0
AN ; 100 | 1,810 1,780 1,124 439 | 39.1




s | R BRI 4y st NB | EREE | 2Rk | Akt | A | A
AOA#R 6 21 20 4 41 100.0
BEER R HERS 38R (R F i) 2 2 2 2 100.0
BFRR I HEBS A BR (P R — %) 4 4 4 41 100.0
SRR HE RS A BR (LR - 8 8 8 8| 100.0
SRR HEBS A BR (MR 23 23 23 23| 100.0
— A S AR 31 31 17 10 58.8
e S AR 0
I A SR 168 168 76 31 40.8
" BTHIRAERA J7 2 405 401 88 15 17.0
A [BimEERB 147 146 35 12 34.3
% ATHIBRAM A2, 60 125 120 23 5 21.7
b |prstEBM 118 117 25 7 28.0
;j LA —TFAASE 185 183 36 1 2.8

LA —TFABHR, 91 90 11 0

% BB 2 49 43 2 1 50.0

K AB L4 — SR SR (RT0) 350k 111 111 33 1 3.0

K AB L4 — SR SR (RT0) 550k 15 56 56 17 0

K AB L4 — SR R (7 1) 38Rk 20 20 7 0

WS T2 B R R 0

1D NG 2 A R R A B HF4 0

E“;‘ s NI BR 0

K N i 10| 1,564 | 1,543 411 124 30.2

Y AO AR 6 28 28 8 8| 100.0

- P HERS S8R (5 B ) 5 5 5 5] 100.0
BFRR I HEBS A BR (P R — %) 2 2 2 2 100.0
SRR HE RS A B (LR - 11 11 11 11| 100.0
SRR HEBS A BR (MR 18 18 18 18| 100.0
— A S AR 45 45 28 17 60.7
e S AR 0
I A SR 91 90 44 18 40.9

. BTHIRAERA J 2 200 194 60 12 20.0
g [ATEEREBRB 111 109 28 8 28.6
% ATHIBRAM A2, 60 76 72 21 7 33.3
B |prstsBM 69 67 22 5 22.7
;j BT TAASTR 86 82 24 2 8.3
LA —TFABHR, 75 73 28 4 14.3
% BB 2 17 15 2 2 100.0
K AB L4 — SR R (RT0) 350k 57 57 22 1 4.5
K AF L4 — SR R (RT0) 550k 15 28 28 12 0
K ABEL 4 — SR R (7 1) 38Rk 7 7 0
WS T B R R 0
1D NG 2 R R A B HF4 2 2 1 1| 100.0
s NI BR 0
N i 110 928 905 336 121 36.0




2t | R e AR AR | B | 2k | ek | Ak | A
AO A 6 9 9 9 9| 100.0
[ e 3B (% F I 50) 2 2 2 2| 100.0
(R REHEBS B (P2 5 — ) 0
S TE RIS AR (RE ) 5 3 3 3 3| 100.0
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